(—) R N\ Z HA

I et o o=

= Libi
111F7 H1HE 111412 H 31 Hil
4w 9% | IBlEEAE Gi=lil PEEHE | IEHEAR fEE H® EE|
e BEH
1 FEH 100, 000 111/8/16 | HEfEFR1R | WE L&
2 BAEE NG 7,400 111/09/01 | RUairE | W2 LIS
2 & A BN
B R/ NEH S
Heg
3 EENEGHE 8, 000 111/10/11 | HHHERN Bz &
2 L&A SR G BEE
B/ NEHE
Heg
EHE ’
5 BAEE NG BEEs | e US
WEPEANT o 501 | 11111710 | EITEASRE
B R NEHE =
Heg
G 02K w A -
=Heg
7 EENEGHE 3, 720 111/11/23 | B4 FEE Bz L&
HZEEAM B
B R/ NEH S
Heg
8 EVENEGHE 175 111/11/23 | {RUZfCHrE Bz L&
2 & AP BN
B/ NEHE
Heg
9 MEEA G 3,594 111/11/23 | Rz | B2 LS
2 & AP BN
B/ NEHE
Eeg
EHE ’
11 EETHZTE KELTY | BE S
GRE R/ 1, 080 111/12/26 | s
BAREY

5t 264,270 7T




EMHZPEAMIEE/NE
P E M E)
111447 A1 HE 1114612 A 31 Hik

TR E BEYE BEH | BRlEHS |52 | &R
e et B | HE 1] Jasbas
%




(=) WIS

I et o o=

~7 tHHER4HFE
111 F7H1HE 111412 H 31 Hik
4w % ~ZHHEHE THE 7 FH&%H TS E s
1 Bl R IR L EAK 100, 000 3,414 F &
b=
2 R E R 7,400 7,400 MEENEFETZ
PEAME RN
BEEES
3 SHERnEE 8,000 8,000 MEENEFETZ
fEmLEs SPE AR RN
BEHEES
4% S A 253
S|
5 B BT WHEE AN SR
ZR B 1,501 1,501 PGP RN
HEReS
TR ERE
A=l
7 B BB 3, 720 3,720 MEENEFETZ
SPE AR RN
BEEES
8 R E R 175 175 MEENEFETZ
SPE AR RN
BEEES
9 R IEE BN 3,594 3,594 MEE NG
SPE AR RN
BEHES
e Z—‘ % :,*T{-/\\‘ NS
S|
11 HEETIFEE ZrTi 2 PEAR
1, 080 1, 080 B/ N
=1

“at 167,684 It




EMHZPEAMIEE/NE
AR (E)
111447 A1 HE 1114612 A 31 Hik

Tl BEYIE TR IR ESZHER st e
il BE | KECD H# | #&




